HENEREREES i
SH3F11H29H (AH)

6:550) (81 @ kg )
pHE i miEH o2 = B Z B " =

S 218 RIS 535.8 319 20
<IN 139.5 250 20
Iy 33.8 135 56
£S5 1,770.6 1,111 411
AAZHLA 84.9 650 211
JUALA 1,332.3 1,361 20
LFLA 545.2 511 20
TFELSHLA 862.3 1,212 270
=RHLA 866.2 346 20
THLA 312.1 719 209
TaALA 65.9 780 260
<85 16.9 250 190
2 N85 64.4 151 20
2007 208.0 259 20
FAALY 368.1 1,239 170
<7+ 60.6 1,270 609
<91 220.7 1,100 211
FHA 489.8 389 20
TVAVTAFA 219.6 282 20
TYVA VT AF A58 60.0 1,362 751 g o
F7>07 4,544.7 1,150 169
HFHZS 265.8 36 20

I 12,531.4




§::3::) (BT ¢ kg )
TRETRAE sSiEg H =2 = 1B Z & M =
SE 21& 2R 217.9 520 101
S 3HA 5 64.7 276 183
FHLY 34.1 5,111 239
FHAVEE 54.0 32,500 7,777 ﬁflws
1 c/s
HH=EA 152.6 159 20
JAESHAN 68.9 109 33
T kS A 110.0 319 21
P8 875.6 819 20
ZILAA ST 360.5 869 360
ZILAA FIF 745.0 7,300 2,500 |70 10
1 c/s
A5 3,375.4 1,119 289
U 156 1,240.0 6,884 1,389 | o
1 c/s
=X4T 305.8 819 219
THE47 2,191.9 623 39
FE+<3 76.9 1,440 1,200

T2

22,404.7




§::3=:) (BT ¢ kg )
JRETELE =V n = = 1B Z 1B B &
T 44E EXTVYRS 583.5 169 70
Nt 583.5




[(&£) (BT : kg )
JRETELE n = /[E] /[E] B &
HE 212 180.8 1,500 1,100
111.6 820 720
T 44E 3,953.3 1,150 800

4,245.7




